Άσκηση 1η (6)
	1ο Δείγμα
	2ο Δείγμα
	3ο Δείγμα
	4ο Δείγμα
	5ο Δείγμα
	6ο Δείγμα
	7ο Δείγμα
	8ο Δείγμα
	9ο Δείγμα
	

	15,3
	14,4
	15,3
	15,0
	15,3
	14,9
	15,6
	14,0
	14,0
	

	14,9
	15,5
	15,1
	14,8
	16,4
	15,3
	16,4
	15,8
	15,2
	

	15,0
	14,8
	15,3
	16,0
	17,2
	14,9
	15,3
	16,4
	13,6
	

	15,2
	15,6
	18,5
	15,6
	15,5
	16,5
	15,3
	16,4
	15,0
	

	16,4
	14,9
	14,9
	15,4
	15,5
	15,1
	15,0
	15,3
	15,0
	

	15,36
	15,04
	15,82
	15,36
	15,98
	15,34
	15,52
	15,58
	14,56
	138,56

	1,5
	1,2
	3,6
	1,2
	1,9
	1,6
	1,4
	2,4
	1,6
	16,4
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Άσκηση 2η (4)
	Κωδικός ελαττώματος
	Πλήθος ελαττωματικών

	Α
	65

	Β
	94

	Γ
	78

	Δ
	135

	Ε
	11

	Ζ
	17

	Σύνολο 
	400


	Κωδικός ελαττώματος
	Πλήθος ελαττωματικών
	%
	Αθροιστική %

	Δ
	135
	33,75
	33,75

	Β
	94
	23,50
	57,25

	Γ
	78
	19,50
	76,75

	Α
	65
	16,25
	93,00

	Ζ
	17
	4,25
	97,25

	Ε
	11
	2,75
	100,00

	Σύνολο
	400
	100
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